

# **CU\*Answers Makes It Possible for All Credit Unions to Go Mobile!**

Having a mobile app available from app stores has become an important piece of the growth strategy for credit unions. Some people will find the convenience of mobile banking a requirement for membership. CU\*Answers makes it easy to launch your mobile service offerings.

With the CU\*Answers mobile app, members have access to:



**Mobile Banking** 



Mobile check deposit (RDC)



**Card Control** 



**eStatements** 

And More!

Give your members easy access to their credit union without visiting the branch to access their funds, easily deposit a check, make transfers and so much more. Here is what you need to get started:

- **✓** CU\*Answers Mobile App
- **✓** Remote Deposit Capture RDC
- Remote Deposit Capture Posting Service RDC IQ

## CU\*Answers works hard for you by offering special pricing for the RDC components.

#### **Under 1,000 Members**

#### **Set-Up Fees**

Mobile App Deployment Fee	\$500
RDC Set-Up Fee	<b>\$0</b>
RDC IQ: Posting Service Set-Up Fee	<b>\$0</b> (Waived - Save \$500)
Total	\$500

#### **Monthly Fees**

RDC Per-Item Fee	\$0.45
<b>RDC Monthly Maintenance</b>	<b>\$25</b> (First 12 Months Waived - Save \$300)
RDC IQ: Posting Service	\$25 (First 12 Months Waived - Save \$300)
RDC IQ: Post Creation	<b>\$25</b> (First 12 Months Waived - Save \$300)
<b>Check Retention: 1 Year of Checks Retained</b>	\$0
<b>Optional Check Retention: 2-6 Years</b>	\$5 Per Year Retained; \$30 Max
Total	\$75 + Per Item Posting and Check Retention When Chosen (Save \$900 first year)

First Year Set-Up + Monthly Total \$500 + Per Item Posting and Check Retention When Chosen (Save \$1,400)

#### 1,000 - 5,000 Members

## **Set-Up Fees**

Mobile App Deployment Fee	\$500
RDC Set-Up Fee	<b>\$495</b> (Save \$1,750)
RDC IQ: Posting Service Set-Up Fee	<b>\$0</b> (Waived - Save \$500)
Total	\$995

## **Monthly Fees**

RDC Per-Item Fee	\$0.45
<b>RDC Monthly Maintenance</b>	\$75 (First 12 Months Waived - Save \$900)
RDC IQ: Posting Service	\$25 (First 12 Months Waived - Save \$300)
RDC IQ: Post Creation	\$50 (First 12 Months Waived - Save \$600)
<b>Check Retention: 1 Year of Checks Retained</b>	\$0
<b>Optional Check Retention: 2-6 Years</b>	\$10 Per Year Retained; \$60 Max
Total	\$150 + Per Item Posting and Check Retention When Chosen (Save \$1,800 first year)

First Year Set-Up + Monthly Total \$995 + Per Item Posting and Check Retention When Chosen (Save \$4,050)



#### 5,000+ Members

## **Set-Up Fees**

Mobile App Deployment Fee	\$500
RDC Set-Up Fee	<b>\$995</b> (Save \$2,000)
RDC IQ: Posting Service Set-Up Fee	<b>\$0</b> (Waived - Save \$500)
Total	\$1,495

## **Monthly Fees**

RDC Per-Item Fee	\$0.45
<b>RDC Monthly Maintenance</b>	<b>\$175</b> (First 6 Months Waived - Save \$1,050)
RDC IQ: Posting Service	\$25 (First 12 Months Waived - Save \$300)
RDC IQ: Post Creation	<b>\$100</b> (First 12 Months Waived - Save \$1200)
<b>Optional Check Retention: 2-6 Years</b>	\$10 Per Year Retained; \$60 Max
Total	\$300 + Per Item Posting and Check Retention When Chosen (Save \$2,550 first year)

First Year Set-Up + Monthly Total	\$2,545 + Per Item Posting and Check Retention When Chosen (Save \$5,050)

## **Questions?**

Kristian Daniel, Vice President of MTG 800-327-3478 x371 or irsc@cuanwers.com

